FIXING BRACKET

FOR VENT PIPE AS—

DETAILED.

TYPICAL ROOF SHEETING
OVERHANG. \ ,

B C/AN

TOP OF WALL: +2400mm
v

SHS FRAMED SCREENS AS
DETAILED (TYP.).

50 x 50 x 6 PLATE CLEATS SHOP
WELDED TO LB1's, R1's / P1's AS
REQUIRED TO SUIT FIXING OF SCREENS
OVER WALLS - 1/M12 BOLT PER

5° PITCH

CONNECTION (TYP.). p1

PURLINS (P1) SPACED AS

PER ROOF FRAMING PLAN,
3mm CAPPING PLATES AT
ENDS (TYP.).

2/75w x 50h x 6 PLATE CLEATS SHOP
WELDED T0 R1's FOR P1FIXING - 1/M12
BOLTED CONNECTION (TYP.).

45°

3mm PLATE FULL SEAL WELD TO
CAP HOLLOW SECTIONS OPEN ENDS,
GRIND EDGES SMOOTH (TYP.).

175 x 175 x 10.0 PLATES FULLY SHOP | |
WELDED 1EACH TO C1's AND R1's - 4/M12
8.8/s BOLTS PER CONNECTION (TYP.).
| 75 x 75 x 6.0 CAP PLATE AND | 75 x 55 x 6 PLATE CLEATS SHOP
75 x 55 x 6 PLATE CLEATS SHOP — WELDED TO C1's FOR LB1 AND CB1
WELDED TO LB1's AND CB1's - 2/M12 CONNECTIONS (TYP.).
BOLTS PER C1/M1 CONNECTION
. (TYP.). '
C1 C1
[ [
[ [
[ [
[ [
L = e 'Il 180 x 180 x 10.0 BASE PLATE
: L N X X 1V,
FFL. "50@ A, A, — FULLY SHOP WELDED TO C1's (TYP.).
[ | I I | I [
5\ SECTION
A09 / SCALE - 1:20
0 500 m
——
DISCLAMER | DRAWN CHECKED
e8| | CONCURRED STRUCTURALONLY || SG. : AEST AREA INFRASTRUGTURE
B | e e |2 Northern Territory | ™2
OTHERWSE) AAY ALTLRNTIONS) O T || OBy Femerson T \ > )
0 |ISSUED AS A STANDARD DRAWING 25M11120|  SG DIPL FCR%RJ%?Z\VT‘D%G:‘VCN‘NCEEEV:”}E:OEEEE%EZZEQ‘T } Signed: W 25/11/20 } g‘;;EG:NC;iTO-JZé’ég oA GOVG rnment SECTION 5 __
No. DESCRIPTION DATE INIT. DEPT/COMPANY. RE%TJH%IEZEVREEILFEIQE;‘\I)SE)HITSS?E%ES/&TCV | Registration No.: 33896ES‘ _ _ NTG PROJECT No. | NTG ASSET No. SHEET No. NTG DRAWING No. AMENDMENT] SIZE
AMENDMENTS Plot Date: 25/11/2020 AND NEW CERTIFICATION ISSUED L - DATE: DATE: A100r 15 CS3809 0

(S-3809__AMED_0 RELEASED 25/11/2020


AutoCAD SHX Text
2/75w x 50h x 6 PLATE CLEATS SHOP WELDED TO R1's FOR P1 FIXING  - 1/M12 BOLTED CONNECTION (TYP.).

AutoCAD SHX Text
R1

AutoCAD SHX Text
CB1

AutoCAD SHX Text
C1

AutoCAD SHX Text
C1

AutoCAD SHX Text
LB1

AutoCAD SHX Text
3mm PLATE FULL SEAL WELD TO CAP HOLLOW SECTIONS OPEN ENDS, GRIND EDGES SMOOTH (TYP.). 

AutoCAD SHX Text
180 x 180 x 10.0 BASE PLATE  FULLY SHOP WELDED TO C1's (TYP.).

AutoCAD SHX Text
SHS FRAMED SCREENS AS DETAILED (TYP.).

AutoCAD SHX Text
P1

AutoCAD SHX Text
P1

AutoCAD SHX Text
P1

AutoCAD SHX Text
P1

AutoCAD SHX Text
P1

AutoCAD SHX Text
P1

AutoCAD SHX Text
P1

AutoCAD SHX Text
50 x 50 x 6 PLATE CLEATS SHOP WELDED TO LB1's, R1's / P1's AS REQUIRED TO SUIT FIXING OF SCREENS OVER WALLS - 1/M12 BOLT PER CONNECTION (TYP.). 

AutoCAD SHX Text
75 x 55 x 6 PLATE CLEATS SHOP WELDED TO C1's FOR LB1 AND CB1 CONNECTIONS (TYP.).

AutoCAD SHX Text
A

AutoCAD SHX Text
B

AutoCAD SHX Text
5° PITCH

AutoCAD SHX Text
F.F.L.: +50mm

AutoCAD SHX Text
TOP OF COLUMN:  +2700mm

AutoCAD SHX Text
TOP OF WALL:  +2400mm

AutoCAD SHX Text
45°

AutoCAD SHX Text
45°

AutoCAD SHX Text
1m

AutoCAD SHX Text
0

AutoCAD SHX Text
500

AutoCAD SHX Text
FIXING BRACKET FOR VENT PIPE AS DETAILED.

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
SCALE - 1:20

AutoCAD SHX Text
A09

AutoCAD SHX Text
5

AutoCAD SHX Text
PURLINS (P1) SPACED AS PER ROOF FRAMING PLAN, 3mm CAPPING PLATES AT ENDS (TYP.).

AutoCAD SHX Text
175 x 175 x 10.0 PLATES FULLY SHOP WELDED 1 EACH TO C1's AND R1's - 4/M12 8.8/s BOLTS PER CONNECTION (TYP.).

AutoCAD SHX Text
75 x 75 x 6.0 CAP PLATE AND  75 x 55 x 6 PLATE CLEATS SHOP WELDED TO LB1's AND CB1's - 2/M12 BOLTS PER C1/M1 CONNECTION (TYP.).

AutoCAD SHX Text
TYPICAL ROOF SHEETING OVERHANG.

AutoCAD SHX Text
CS-3809_AMED_0	 RELEASED 	25/11/2020 RELEASED 	25/11/202025/11/2020


